PRE-CALCULUS Assignment #

MR-5 (Tnq)
Name Date Per
Show all the work. NO WORK = NO CREDIT

1) Find one negative and one positive angle coterminal with: la)
V4 2z o
2) Find the reference angle for each of the following” ©)
a) 215° b) %’i c) -%} d)272° 2a)
. b)
3) Use a calculator to find the following values to 4 decimal places:
¢
a) csc (-51°) b) cot 138° c) sec 190° )
3 -
4) Ifcsc@ = —g—j,andcost9<0,ﬁnd:
L 3a)
a) siné b) cos @ c) tand
b)
5) Ifcsca=§,ﬁnd cotd for 0<x <90°. )
4a)
b)
6) If sinﬂﬁ—% , and the terminal side of @ lies in Quadrant IV, find cos 8. &
5
6)
7 Express sin 1485° as a function of an angle in Quadrant I. 7
8)
9a)
8) Express csc(-430°) as a function of an angle in Quadrant 1.
b)
¢)
9 If the terminal side of @ contains the point (-8,15), find:
a) sin @ b) cos @ c)tan @ d)
d) cot @ e) secd f) cscd
€)
f)




10)

11)

12)

13)

14)

15)

16)

17)

Solve right triangle ABC where m<A=42°, ¢=20, m<B=90°.
Round answers to the nearest whole number
aym<Cr ? b)bx? c) ax?

Use right triangle trigonometry 10 €Xpress
each of the following in 2 ways:

P r
a) p= b)q= c)r=
R™q P
1
Iftanx = 7 find tan 2Xx.
4 i T

Ifcosx= -5 and sinx > 0, evaluate cos(x - -g)
Convert to radians:
a)40° b) 55° ¢) -60.5°
Convert to degrees:

27 kY1 1

— b) —— — d)-5
a) 3 ) 2 c) 3 ) =57

Find the arc length (s) of a circle with the given radius (r) and intercepted

by the given central angle (©).Express answers in Yeims et AY .
a) r=5,0=60° b) r=2,80=135° ¢) r=3,0=330°
Find the exact values of:
a) csc zg— b) cot (- %ﬂ—) ¢) tan 315°
d) sin [— E] e) cos (—7) f) sec [-— 175)

6 2
g) csc -343 h)tan 0 i)tan 7

10a)

b)

11a)

b)

)

12)

13)

14) a)

b)

c)

15a)

b)

4

16) a)

b)

17a)

b)

d)

€)

g)

h)




